CRITICAL THINKING

VALIDITY OF AN ARGUMENT – TRUTH FORCING TRUTH
Question:

In an argument with two premises and one conclusion, why isn’t a pattern of F F T invalid?

Validity has to do with the TRUTH of (all) the premises FORCING the truth of the conclusion.  If, whenever all the premises are TRUE, the conclusion is FALSE, the argument is invalid, because the TRUTH of the premises didn’t FORCE the conclusion to be TRUE.  If, on the other hand, whenever the premises are all TRUE, the conclusion must be also TRUE, then the argument is (deductively) VALID.
John is taller than Karen.

TRUE

Karen is taller than Larry.

TRUE
John is taller than Larry.

TRUE (must be TRUE)

VALID
Cases in which at least one premise is FALSE (as in TTF) aren’t relevant to whether the argument is VALID or not, because they don’t meet the condition of ALL the premises being true.  The argument FORM can still be VALID in that, if the premises were true, the conclusion would be true.
EXAMPLE
All apples are squares.


FALSE

All squares are fruit.


FALSE
All apples are fruit.


TRUE (must be true)

VALID
